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Time allowed : 2
2
1  hours ] [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk iz'u 30 gSaA  
 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 30 questions. 

 

•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kkijh{kkijh{kkijh{kk    ds mijkUr bl ds mijkUr bl ds mijkUr bl ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

funsZ'kfunsZ'kfunsZ'kfunsZ'k    %%%%        

Instructions : 

        (i) lHkhlHkhlHkhlHkh iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA    

   All questions are compulsory. 

 (ii) iz'u la[;k 1 ls 15 rd oLrqfu"B ¼cgqfodYih;/,d 'kCn/fjDr LFkkuksa dh iwfrZ/dFku vkSj 
dkj.k½ izdkj ds iz'u gSa izR;sd 1 vad ds gSaA 

  Question No. 1 to 15 are Objective (MCQ/One Word/Fill in the Blanks/ 

Assertion & Reason) type's questions carrying 1 mark each. 

  (iii) iz'u la[;k 16 ls 21 rd vfry?kq mÙkjh; izdkj ds iz'u gSa izR;sd 2 vadksa ds gSaA 

  Question No. 16 to 21 are Very Short Answer Type Questions carrying       

2 marks each. 

 (iv) iz'u la[;k 22 ls 27 rd y?kq mÙkjh; izdkj ds iz'u gSa izR;sd 3 vadksa ds gSaA 

  Question No. 22 to 27 are Short Answer Type Questions carrying 3 marks 

each. 
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 (v) iz'u la[;k 28 ls 30 rd nh?kZ mÙkjh; izdkj ds iz'u gSa izR;sd 5 vadksa ds gSaA 

  Question No. 28 to 30  are Long Answer Type Questions carrying 5 marks 

each. 

[k.M [k.M [k.M [k.M – vvvv 

SECTION – A 

¼¼¼¼oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u½½½½    

(Objective Type Questions) 

1. fuEu esa ls dkSu lapkj izfØ;k dk rÙo ugha ugha ugha ugha  gS \ 1 

 (A) lUns'k (B) le; 

 (C) pSuy/ek/;e (D) izfrfØ;k 

 Which one of following is not the element of a communication cycle ? 

 (A) Message (B) Time 

 (C) Channel (D) Feedback 

2. fuEu esa ls m|eh dk dkSu-lk xq.k ugha ugha ugha ugha gS \ 1 

 (A) vkRefo'okl dh deh (B) /kS;Zoku 

 (C) esgurh (D) u, fopkj vktekuk 
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 Which of the following is not a quality of an entrepreneur ?  

 (A) Lack of confidence  

 (B) Patient 

 (C) Hardworking  

 (D) Try new ideas 

3. la;qDr jk"Vª }kjk lrr fodkl ds fdrus y{; fn;s x;s Fks \ 1 

 (A) 18 (B) 17 

 (C) 15 (D) 20 

 How many sustainable development goals are given by the United Nations ? 

 (A) 18 (B) 17 

 (C) 15 (D) 20 

4. la;qDr jk"Vª ds vuqlkj dkSu-lk fodYi lrr fodkl dk y{; ugha ugha ugha ugha gS \ 1 

 (A) lkQ ikuh vkSj LoPNrk (B) ySafxd lekurk 

 (C) tula[;k (D) vlekurkvksa dks de fd;k  
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 Choose the option which is not sustainable development goal according to 

United Nations ? 

 (A) Clean water & sanitation  

 (B) Gender equality 

 (C) Population  

 (D) Reduced Inequalities  

5. dkSu-lk ^ou ihl cktw* dk mnkgj.k ugha ugha ugha ugha  gS \ 1 

 (A) fdeksuks cktw  

 (B) jkxyku cktw/vkLrhu 

 (C) MkWyeku cktw  

 (D) cVfoax cktw 

 Which is not the example of one piece sleeve ? 

 (A) Kimono sleeve  

 (B) Raglan sleeve 

 (C) Dolman sleeve  

 (D) Batwing sleeve 
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6. fdl ,sfIyds'ku esa oks Vwy miyC/k gS tks dk;Z o mldh dher dks iwjk djus ds fy, pkfg, \ 1 

 (A) bD;qIesUV ,sfIyds'ku 

 (B) Vwy ,sfIyds'ku 

 (C) ekWMy ,sfIyds'ku 

 (D) dksbZ ugha  

 Which application has the tools needed to complete the task and its cost ? 

 (A) Equipment Application 

 (B) Tool Application 

 (C) Model Application 

 (D) None of these 

 

  7. ………….. fof/k dk iz;ksx y{; fu/kkZfjr djus ds fy, fd;k tk ldrk gSA 1 

 One can use ………….. method to set goals. 

 

 



  ( 7 ) 1133 

1133    P. T. O. 

  8. ………….. dSaph dk iz;ksx lhe HkÙkk dks dkVus ds fy, djrs gSa ftlls diM+k m/kM+rk                  
ugha gSA 1 

 ………….. scissors are used for trimming a seam allowance to prevent                  

fraying. 

  9. …………. xSnj] lcls T;knk iz;ksx gksus okyh xSnj cukus dh fof/k gSA 1 

 …………. gathers is the most common method of making gathers. 

10. ml fo'ks"k izdkj dh flykbZ e'khu dk D;k uke gS tks lhou ds dPps fdukjksa dks dkVrh gS vkSj vksoj 
ykWd flykbZ fdukjksa ij djrh gS \ 1 

 What is the name of a special type of sewing machine that cut raw edges of seam 

and create over locked stitches around the edge as it is sewn. 

 

11. fdlh Hkh ifj/kku esa dPps eky dh ykxr fdruh gksrh gS \ 1 

 What is the cost of raw material in any garment ? 

12. SLA dk iw.kZ :i fyf[k,A 1 

 Write the full form of SLA. 
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13. vfHkdj.k vfHkdj.k vfHkdj.k vfHkdj.k (A) : ekSf[kd lapkj esa ,d O;fDr cksyrk gS vkSj nwljk lqurk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  fj'rs esa lapkj vkerkSj ij vukSipkfjd gksrk gSA 

 (A) (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh lgh O;k[;k gSA 

 (B) (A) vkSj (R) nksuksa lgh gSa ysfdu (R), (A) dh lgh O;k[;k ugha gSA 

 (C) (A) lgh gS vkSj (R) xyr gSA 

 (D) (A) xyr gS vkSj (R) lgh gSA  

 

 Assertion (A) : In verbal communication, one person talks and other listens. 

 Reason (R) :  Communication is usually informal in relationship. 

 (A) Both (A) and (R) are correct and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are correct and (R) is not the correct explanation of (A). 

 (C) (A) is true and (R) is false.  

 (D) (A) is false and (R) is true. 
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14. vfHkdj.k vfHkdj.k vfHkdj.k vfHkdj.k (A) : ruko ,d y{k.k gS] chekjh ughaA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  gkfudkjd ckgjh mÙkstukvksa ds rqjUr izHkko ls ruko dh voLFkk iSnk gksrh gSA tks 

fofHkUu chekfj;k¡ mRiUu djrh gSaA 

 (A) (A) vkSj (R) nksuksa  lgh gSa rFkk (R), (A) dh lgh O;k[;k gSA 

 (B) (A) vkSj (R) nksuksa  lgh gSa rFkk (R), (A) dh lgh O;k[;k ugha gSA 

 (C) (A) lgh gS vkSj (R) xyr gSA 

 (D) (A) xyr gS vkSj (R) lgh gSA  

 Assertion (A) : Stress is a symptom, not a disease. 

 Reason (R) :  The immediate outcome of a harmful external provocations leads 

to state of stress causes various diseases. 

 (A) Both (A) and (R) are correct and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are correct and (R) is not the correct explanation of (A). 

 (C) (A) is true and (R) is false.  

 (D) (A) is false and (R) is true. 
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15. vfHkdj.k vfHkdj.k vfHkdj.k vfHkdj.k (A) : ,d m|eh tksf[ke ysrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) :  ,d m|eh vkRefo'oklh gksrk gSA 

 (A) (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh lgh O;k[;k gSA 

 (B) (A) vkSj (R) nksuksa lgh gSa rFkk (R), (A) dh lgh O;k[;k ugha gSA 

 (C) (A) lgh gS vkSj (R) xyr gSA 

 (D) (A) xyr gS vkSj (R) lgh gSA  

 Assertion (A) : An entrepreneur takes risks.  

 Reason (R) : An entrepreneur is self confident. 

 (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are true and (R) is not the correct explanation of (A). 

 (C) (A) is true and (R) is false.  

 (D) (A) is false and (R) is true. 

[k.M [k.M [k.M [k.M – cccc 

SECTION – B 

¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½¼vfr y?kq mÙkjh; iz'u½    

(Very Short Answer Type Questions) 

16. ^ok;jl* D;k gksrk gS \ 2 

 What is Virus ? 
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17. ^ftij IySdsV* ds ckjs esa fyf[k,A 2 

 Write about 'Zipper Placket'. 

vFkokvFkokvFkokvFkok    

OR 

 ^bu-lhe ikWdsV* ds ckjs esa fyf[k,A 

 Write about 'In-seam Pocket'.  

18. ^Tosy usdykbu* dks ifjHkkf"kr dhft,A 2 

 Define 'Jewel Neckline'. 

19. ^QkLVuj* D;k gksrs gSa \ 2 

 Define 'Fasteners'. 

20.    ^czksp* ds ckjs esa fyf[k,A 2 

 Write about 'Brooches'. 

21. dk;Z iSdst dks dkWfUQxj djus ds mi;ksx crkb;sA 2 

 What is the use of configuring work packages ? 

vFkokvFkokvFkokvFkok    

OR 

 ^tkWc dkMZ* ds ckjs eas fyf[k,A 

 Define 'Job card'. 
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[k.M [k.M [k.M [k.M –    llll    

SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

22.    lhou ifj"dj.k rduhdksa ds ckjs esa fyf[k,A 3 

 Write about different seam finishing techniques. 

23. QkLVujksa dh flykbZ djrs le; fdu-fdu ckrksa dks /;ku esa j[kuk pkfg, \ 3 

 What points to be kept in mind when sewing fasteners ? 

24. fofHkUu izdkj dh ^Vsiksa* ds uke fyf[k,A 3 

 Write the names of different types of 'tapes'. 

vFkokvFkokvFkokvFkok    

OR 

 fofHkUu izdkj ds ^iSpksa* ds uke fyf[k,A 

 Write the names of different types of 'patches'. 

25. xq.koÙkk dks ifjHkkf"kr djsa vkSj mlds Mkbesa'ku ds izdkj fyf[k,A 3 

 Define quality and write the types of its dimensions. 
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26. xq.koÙkk fujh{k.k esa n`'; fujh{k.k dh O;k[;k djsaA 3 

 Explain visual inspection in quality inspection. 

27. mu fof/k;ksa ds ckjs esa fyf[k, ftuls diM+s esa fLVp/Vkadk cuk;k tk ldrk gS \ 3 

 Write methods by which stitch can be formed in textiles ? 

vFkokvFkokvFkokvFkok    

OR 

 ^ykWd fLVp* dh eq[; gkfu;k¡ D;k-D;k gSa \ 

 What are the main disadvantages of Lock Stitch ? 

 

[k.M [k.M [k.M [k.M –    nnnn    

SECTION – D 

¼¼¼¼nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½    

(Long Answer Type Questions) 

28. fdUgha ik¡pik¡pik¡pik¡p izdkj dh lhouksa dk o.kZu djsaA 5 

 Describe any five types of Seams. 
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vFkokvFkokvFkokvFkok    

OR 

 fdUgha ik¡pik¡pik¡pik¡p ifj/kku fuekZ.k dh ifjHkkf"kr 'kCnkofy;ksa ds ckjs eas fyf[k,A 

 Write about any five garment construction terms. 

29. nks"k ds òksr ds vk/kkj ij oL=ksa ds nks"kksa dk oxhZdj.k dhft,A 5 

 Classify the fabric defects on the basis of source of defect. 

vFkokvFkokvFkokvFkok    

OR 

 ^vkWu-lkbV*/fuekZ.k LFky ij fofHkUu xq.koÙkk fujh{k.k lsok,¡ dkSu-dkSu-lh gSa \ 

 What are the different on-site quality inspection services ? 

30. mu dk;ks± ds ckjs eas fyf[k, tks tkWc dkMZ ij gaS ysfdu vU; vuqiz;ksxksa ls ,d= fd, x, gSaA 5 

 Write about the operations that are on job card but gathered from other 

applications. 
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vFkokvFkokvFkokvFkok    

OR 

 Vk¡ds ds N% oxZ dkSu-dkSu ls gSa \ o.kZu djsaA 

 Which are the six classes of Stitches ? Explain.  

S 

 


